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9. Point-Slope Form. Use the point and the slope to graph each equation.

a y-4=-12(x-3) b-y+2=—3(x+2) C.y-4=2(x+1)
Iy
e, y1)- Ft,-2) (1, y1) =

Gt y)
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10. Standard Form. Use the x- and y-intercepts to graph each line.

a. 3x+2y = -6 b. 2x-3y=-6
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Write and solve an equation in standard form for each situation.

11. You are in charge of buying food for your family reunion. You pay $1.50 for each hamburger and
$2 for each hotdog.

a. Define variables for the number of hot dogs and hamburgers you buy.
= & -; hed da 1L
Uz ef Fem bowr ers

b. Write an equation in standard form tS relate the number of hamburgers and hot dogs you must
buy to stay in your $90 budget.

1x+ l-fj = %o

c. If you bought 30 hot dogs, how many hamburgers did you buy?
X= 30 2030) + 1.8y = 99

LSy ¢ 3e
/S'yg_: 22 h awa buwrgers
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12. You are selling drinks at the carnival to raise money for your school club. You sell lemonade for
$2 per cup and orange drinks for $3 per cup.

a. Define variables for the number of lemonade and orange drinks you sell.
K= Bk ofaps of [amenade
%= & J cwps of oronge

b. Write an equation in standard form to relate the number of lemonade and orange drinks you

must sell to raise $240. R+ ’j s 249

c. Ifyou sell 60 cups of lemonade, how many cups of orange drink did you sell2

x* 6o 2(%e) 3y = 290 u‘ Ya eyt of arenge

I z /2
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Use your notes!!
Determine if each equation is in slope-intercept, point-slope, or standard form.
1. 2x-4y=5 2. y-3=-3(x-4) 3. y=3x-4

Stomdand fm point-slege M«uﬁ

Determine if each table is linear or not. If it is, write an equation in slope-intercept form.
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6. Use the point and the slope or the two points given to write an equation in point-slope form.
Then rewrite the equation in slope-intercept form.

a. (4,2) m=4 b. (-2, 3) (5, -4) (find slope first!)
"‘f -3 : .1. '

point-slope equation: 3' 1=y "*q) point-: sf e equatlon ;- , = IC 7""‘!)

slope-intercept equation: 9 2= Yyl slope-intercept equation: M = 3 = X+l

genou
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7. Determine the point and slope from the equation

a. y-3=-3x-3) b. y+3=4(x+2) cyt5=¥x Y= '/,_x-s
poimL’ 11) point ('1‘1"7 point‘cl '5)
slope -3 slope | slope '/ z

8. Write an equation in point-slope form. Use the coordinate on the right to write your equation.

y#l= 3Cx-0)

" O v ey 1

= PHAE
T \"‘&@-"1') ERERTA = (o)

IS Tl m=2





